









	Lead-In 

	Materials: Board

	Time
3min

	Set Up
Whole Class

	Procedure:

-Greeting
-Eliciting:

What is your favorite season?

What is your favorite holiday in winter?

Introducing today’s topic:

Today, we will talk about “Christmas & Santa”



	Pre-Activity 

	Materials: Worksheet, Board

	Time
5min

	Set Up
Group work

	Procedure:
Instruction
Share your experience about Christmas with your partner. 
You have 5minutes to talk.
CCQ

Who are you working with?

How much time do you have?

What should you do?

Monitor discreetly. 
Give time warning:30 seconds left

Be flexible with time. Give 1 more minute if they need it.



	Main Activity 

	Materials: CD & CD player, Listening Worksheet, Board

	Time
3min

7min
2min

	Set Up
Whole Class

individually

Group work
Whole Class


	Procedure:
1. Watching the video clip
Instructions
Now we are going to watch movie trail. Try to listen what they are talking about. 
What things can Santa do?
2. Reading
Instructions

Like you have seen, Santa has so many things to do for one night.  I will give a reading material about Santa which is written in an engineer’s perspective. 

Even though you have problem in vocabulary, try to finish reading.
You have 7minutes to read and answer the worksheet questions. After than compare the answers with your group members.

CCQ

What are you supposed to do?
You may begin
Instructions

Let’s check the answers. Please share your answer with other groups.


	Post-Activity 

	Materials: n/a

	Time
5min
2min

3min


	Set Up
Group work
Whole Class

Whole Class


	Procedure:
Instructions

We have been read an engineer’s perspective.  Now let’s make our perspectives about the reason why the Santa do not come to us.  Talk with your partner. You have 5 minutes.

CCQ

Are you working in pairs?

For how long?

Monitor actively and participate within each group

Share students’ opinions.

Take 2~3 volunteers if running out of time.

Instructions

I will show you another idea why Santa did not reply to a letter from children who waiting his visit
Good job today. See you guys tomorrow!




An Engineer's Perspective
There are approximately two billion children (persons under 18) in the world. However, since Santa does not visit children of Muslim, Hindu, Jewish or Buddhist religions, this reduces the workload for Christmas night to 15 percent of the total, or 378 million (according to the Population Reference Bureau). At an average (census) rate of 3.5 children per house, which comes to 108 million homes, presuming that there is at least one good child in each.

Santa has about 31 hours of Christmas to work with, thanks to the different time zones and the rotation of the earth, assuming he travels east to west (which seems logical). This works out to 967.7 visits per second.

This is to say that for each Christian household with a good child, Santa has about 1/1000th of a second to park the sleigh, hop out, jump down the chimney, fill the stockings, distribute the remaining presents under the tree, eat whatever snacks have been left for him, get back up the chimney, jump into the sleigh and get on to the next house. Assuming that each of these 108 million stops is evenly distributed around the earth (which, of course, we know to be false, but will accept for the purposes of our calculations), we are now talking about 0.78 miles per household; a total trip of 75.5 million miles, not counting bathroom stops or breaks. This means Santa’s sleigh is moving at 650 miles per second-3,000 times the speed of sound. For purposes of comparison, the fastest man-made vehicle, the Ulysses space probe, moves at a poky 27.4 miles per second, and a conventional reindeer can run (at best) 15 miles per hour.


The payload of the sleigh adds another interesting element. Assuming that each child gets nothing more than a medium-sized Lego set (two pounds), the sleigh is carrying over 500 thousand tons, not counting Santa himself. On land, a conventional reindeer can pull no more than 300 pounds. Even granting that the “flying” reindeer could pull ten times the normal amount, the job can’t be done with eight or even nine of them-Santa would need 360,000 of them. This increases the payload, not counting the weight of the sleigh, another 54,000 tons, or roughly seven times the weight of the Queen Elizabeth (the ship, not the monarch).

600,000 tons traveling at 650 mile per second create enormous air resistance-this would heat up the reindeer in the same fashion as a spacecraft reentering the earth’s atmosphere. The lead pair of reindeer would absorb 14.3 quintillion joules of energy per second each. In short, they would burst into flames almost instantaneously, exposing the reindeer behind them and creating deafening sonic booms in their wake. The entire reindeer team would be vaporized within 4.26 thousandths of a second, or right about the time Santa reached the fifth house on his trip. Not that this matters, however, since Santa, as a result of accelerating from a dead stop to 650 m.p.s. in .001 seconds, would be subjected to centrifugal forces of 17,500 g’s. A 250 pound Santa (which seems ludicrously slim) would be pinned to the back of the sleigh by 4,315,015 pounds of force, instantly crushing his bones and organs and reducing him to a quivering blob of pink goo.

Therefore, if Santa did exist, he’s dead now.
Reading Comprehension check
1. How many hours does Santa have to deliver the present?
2. How many steps Santa have during the delivery?
3. What are problems that the Santa has during the delivery in engineer’s perspective?
4. What can help the Santa to survive? ^^

Reading Lesson Plan








Santa 








Length:


30 minutes





Students: 


7~8(3~4 group)





Instructor:


Choi Moon Jung(MJ)





Level:


intermediate





Materials:


8copies of the text “An Engineer’s perspective”


Video Clips


White board, board markers 














Aims:


Ss will be familiar with key vocabulary through T’s explanation and C.C.Q


Ss will be able to get the main idea by skimming the reading text and answering a guiding question


Ss will improve scanning skill by answering worksheet question


Ss will improve speaking and listening ability by sharing ideas in a group








Language Skills:


Listening  : listening to Ts presentation, instruction, demonstration/classmates’ ideas


Speaking : sharing ideas in a group


Writing : answering worksheet questions


Reading: reading text “An Engineer’s perspective”





Language Systems:


Lexis  : vocabulary in the text “An Engineer’s perspective”





Assumptions:


Most Ss experienced Christmas event


Ss are used to working individually and in group of 2~3 of individually


Ss know how to skim and scan


 








Anticipated Errors and Solutions:


Ss may not understand the vocabulary


→ Explain by draw a picture on the board


There may not be enough time to complete the lesson


 → Assign the post activity writing task as a homework assignment


If Students finish their tasks earlier than anticipated 


→ Ask as many students as possible about their Christmas events
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� HYPERLINK "http://channel.pandora.tv/channel/video.ptv?ref=na&redirect=prg&ch_userid=pourmarx&prgid=31084694&categid" �http://channel.pandora.tv/channel/video.ptv?ref=na&redirect=prg&ch_userid=pourmarx&prgid=31084694&categid�=
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